A/NZH ATP. OIKONOMIAZ &  TOTMOIPA®IKO AIATPAMMA
TEMAXIOY MNMPOZ EKMIZOQZH 2TO
ArPOKTHMA:ZIAHPQ

KTHNIATPIKHZ NE EBPOY

TMHMA TOMOI PA®IAY EMNOIKIZMOY
& ANAAASMOY

KAIMAKA: 1/ 1500

E1= 1y 1330 6100 = 1440 T1.p.
E2= 1 1331 8108 = 5375 1..

MINAKAZ YNTETATMENQN

TON KOPY®QON TOY ...

ala X Y AtrooTtdoeig
A 680924.20 | 4565022.10 o
B 680919.00| 4565008.40 A-B:14.65
r 680917.60 | 4564996.30 B-I:12.18
A 680918.30 | 4564987.50 I-A:8.83
E 680711.82| 4564978.82 A - E: 206.66
Z 680703.47 | 4564988.63 E-Z:12.88
H 680697.97 | 4565007.87 Z - H: 20.02
€] 680697.42| 4565010.05 H-0:224
A 680924.20| 4565022.10 227.10

Eppadov Tepayiou = 7175 1.p.

AAEZ/MOAH 2/ 12 /2019
O ZYNTAZAZ

XATZHOIAINNIAHZ ZTAYPOZ
TOMOMPA®OZ MHXANIKOZ




